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d#' : esd'rer Function Particle count, Temperature, Humidity. Dew pointtemperature

. " Particle weight/Particle channel PM2.5, PM10

Specifications Resolving power eve .
EERE Y ES SN HERNENE 0-2000ng/m®

HCHO 0-10PPm, 0-13.4mg/m’ | 0.01ppm. 0.01mg/m’ +2% = - - -

: — - - Particle weight/Display Resolution [EEilluM ST 1
W ELIVINISENTJIERYLER Through built-in pump,collecting 10ml air sample Particle CountParticle chammel . IR I RTINS A ] v
SENTQIERELPERIAE 1-3 minute (depend on sample concentration ) Particle Count/Flow Can be controlled through built-in sensor — —
Response time LPW Concentratlgn about 8 seconds, Particle Count/Calculation Mode Accumulation. difference. Concentration MEM l SET |

hight concentration about 60 seconds - -

: T Particle Count/Error Accuracy : 5%, 2000000 particles/ft3; Em
E\Jvﬁ?(lﬁé(;mlt can be ppm. mg/m’ N R e LR Range:-20-60°C ; Accuracy : +0.5°C ; ENTEI@ ESC ‘I
Air Temperature Air humidity /measuring range Range:0-100%RH ; Accuracy : +2.5%RH(20%-80%RH)

o o

easuring range Teyn =Y Dew Point Temperature ange:-20°C-60°C ; Accuracy : £0.5°C ;
M ing rang 20-60°C +0.5°C R 20°C-60°C ; A 0.5°C 0]
Air humidit Wet Bulb T t R :-20-60°C ; A 1 +0.5°C ;
" u _d Yy 0-100%RH i2.5%RH(20%-80%RH) et Bulb Temperature ange ; Accuracy ;

easuring range Display Mode Color LCD/LED Display

Dew Point Temperature E{ikeds{Ika USD data export Yes
Wet Bulb Temperature -20-60°C Driving Power 18650 2400mAH
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